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1101 [ X418 GH 44 880 0 880
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& 4 20 0 20
1201|H3E RiF 50 750 0 750 15 0 0 0 2160 0 1944
& 60 900 0 900
1203[F ¥Ry [EH 150 1500 0 1500 10 0 0 0 1404 0 972
EE 6 60 0 60 10 0 0 0 0 756 0
GhH 156 1560 0 1560
1205[[F5SNAE [EE 2150 860 860 0 0.4 103 0 43 0 0 0
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& 2475 1020 860 160
1207 |FH EE 720 72 72 0 0.1 0 16 0 0 0 0
EE 32 32 32 0 1 0 140 0 0 0 0
(&) 757 129 104 25
1209| 5% B 5 15 0 15 3 0 0 0 0 2160 0
(&) 10 30 0 30
1219 & (D) 90 9 9 0
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1351[E—<> |55 1500 225 0 225 0.15 0 0 0 92 0 89
(&) 1500 225 0 225
1353[ Tk =0 90 9 0 9 0.1 0 0 0 281 0 119
(&) 90 9 0 9
1403| e T oL 5 10 0 10 2 0 0 0 2052 0 1728
(&) 5 10 0 10
1407 | EB T ERE 200 20 0 20 0.1 0 0 0 0 70 0
(&) 200 20 0 20
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1705| L= fa] 630 50 0 50 0.08 0 0 0 119 0 108
GhH 630 50 0 50
1803 | E mE 150 15 0 15 0.1 0 0 0 0 136 0
=) 150 30 0 30 0.2 0 0 0 260 0 66
& 750 90 0 90
1809[L&L EH 750 75 0 75 0.1 0 0 0 0 43 0
& 750 75 0 75
* M FEEL * 19665 14513 2010 12503
2137;EROR __ |#1ZxL 34 340 0 340 10 0 0 0 3780 0 3564
[&D) 34 340 0 340
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EE/] 44 220 0 220 5 0 0 0 3780 0 3240
I 27 135 0 135 5 0 0 0 3780 0 1620
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GhH 60 900 0 900
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